Math B1131, Exam #2, Fall 2012 Name B K 6 Y

Instructions: Show all work. Use exact answers unless specifically asked to round. Be sure to complete
all parts of each problem.

Part 1. Integration by Tables.

1. Integrate using the attached table. Be sure to state the number of the equation used, and then
use the formula to complete the problem. Indicate any substitutions needed to match the

equation. (10 points each) G( X
o [ g A e Be y
x2(7-2%) ' (3
- X2 (7-o+)
Ml
_d_"ué’——" - ——L— ‘) -
ng(a+b\A3 an o In ( 4 Tu%k K_f C
rr—’ = {— ) z_ ’ ? .— ) 25 [I
l) ( ETET \‘”l Y k - {
" . LVAX? - 2x ANy
b JaeEd  w= 20 dw= 20 X‘J @ = D72
#33 j i, - Vvt e fu m&)m

1 {wlx__ a8 \2\,\+ \Jq\,}-\ l + CJ [.
\\ Ly }\_1 -1 \

[ a=t%, b=-3, ¢=-2  Ww=X ﬂu:dﬁ

4—3e72%

N -V = \MV*" b +C

I e 4

- 4 (aw- Iml‘{ 3 \) + C



APPENDIX  Table of Selected
Integrals

Rational Forms Containing (a + bu)
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